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MATHEMATICS
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Maximum marks: 40
Time allowed: One and a half hours (inclusive of reading time)
ALL QUESTIONS ARE COMPULSORY.

The marks intended for questions are given in brackets [ ]

Select the correct option for each of the following questions.

Section A [16 marks] [16x1]

1. A person opened a recurrent deposit account in a bank and deposited T 800 per month for
1% years. Then the total amount deposited by him in the account is
(a) X 11,400 (¥R 14,400 (c) % 13,680 (d) none of these.

2. A shopkeeper buys goods worth X 4000 and sells these at a profit of 20% to a consumer
in the same state. If GST is charged at 5%, the CGST paid by the consumer is

(a) % 200 (b) T 240 @120 (d) % 100.
N [5 4],then (x,y) =
ly—4 9 3 9
@27 (b) (7.2) (©) (3.6) (@) (-27)
[cos= —sin= 2 o
4. If| 2% X = [ ] then the order of the matrix X is
sin;  cos -1
(a) 2x2 j,b’{z><1 (c) 1x2 (d) 1x1
S—Hthe straight line ax + y + 7 = 0 passes through the point(1, —1), thena =
(a) =6 (b) 6 ©8 {38

6. Ifinan A.P., the first and the last terms are —5 and 21 respectively and the sum of the
terms is 200, then the number of terms is
(a) 50 (b) 40 (c) 32 yj 25

7. When x* —3x?% + 2x + 1 is divided by (x — 1), the remainder is
(@0 w1 (©-1 (d) 2.



@ 0
< 35 2 >

8. Which of the following sets is represented by the above?

@{x|-35<x<2,x€eR} ) {x| -35<x<2,x€ER}
©){x|-35<x<2,x€eR} (d) {-3,—-2,-1,0,1}.

9. Thesolutionsetfor10 >x+2>—-1,x ENis
@{x|-3<x<8, xeR} (b) {x| -3<x<8, xR}
() {0,1,2,3,4,5,6,7,8} (@ {1,2,3,4,5,6,7,8}.

“T0-Fhe-inrehnationaf a line is 45° and it passes through (2,0). Its equation will be

@x—y—2=0 Ox—-y+2= = =x+ 2.
11. The centroid of a trianale, whose vertices ar 1), is at

(23 (b) (4.3) (c) (2,3) (d) (3,3).
12. The coordinates of the IMageof-the-poin —5) under reflection in the y-axis is
(@) (2,5) (b) (=2,-5) = (2, —5).
13. The point (0, 2) is invariant unde
(a) reflection inthe-origin (b) reflection in the x-axis
(c)xeHerfion in the y-axis (d) all of these
14. The probability of geftimg~<at most one tail’ when a coin is tossed twice is
OF (b) - (c)> d).0

15. The roots of the quadratic equation x? — 3x — 9 = 0 are 4.854 and —1.854.
The roots correct to two significant figures are

(a) 4.85,—1.85 (b) 4.8,—1.8 40 4.9,-19 (d) 5.0,—2.0
16.If 2.5, 10, x, 16 are in proportion, then the value of x is
(@12 ;b) 4 (c) 8 (d) 14.
Section B [12 marks] [6x2]

17. Rahul deposits % 250 per month for a year in a recurring deposit account. If the rate of
interest is 8% p.a., then the interest earned by him on the account is

(a) T 65 (b) 2 120 2130 (d) 2 260

1 9 2 x ]
18.LetA=|, 1 and B = [0 1]. If 44 = B?, then the value of x is
4

(@) 6 (B 12 (c) 33 (d) 39.



19.

MRP (in ) 200 160
No. of items 27 35
Rate of GST (in %) 12 18
The total amount payable including GST for the above bill is
}aa/% 12,656 (b)X 12,556 (c)X 12,756 (d) None of these
20. If% = % = % then % is equal to
@-1 (b) 0 (1 (d)-2.
. The line segment joining the points (—3, —4) to (1, —2) is divided by the y-axis in the
el N
@1:3 ® 23 ©3:1 d)3:2

22. If x2 — 1 is a factor of px3 + 4x? — 3x + q, then the values of p and q are
@pr=3qg=-4 O)p=-3q9=4 (@©©p=-39=-4 (dp=3q=4

Section C [12 marks] [3x4]
23. The product of the digits of a two-digit positive number is 6.

0] If the digit in the ten’s place is x, then the digit in the unit’s place y =

(a) 6x (b) X Lef® (d) 6 —x
(i) The number, with the digits interchanged, can be written as
(@ 10x+y (b) xy 59)'103/ + x (d) yx

(i) If 9is added to the given number, the digits are interchanged. Then the
quadratic equation formed is
@x*—x+6=0 M) x?+x+6=0
jg'x2+x—6=0 (d)9x%+9x+53 =0

(iv)  The number is
(323 (b) 16 (c) 32 (d) 61.

24. Consider the following numbers in AP : —11,-7,-3, ---,49.
0] The common difference of the AP is

(a) —4 (b) —11 B4 (d) 6.
(i)  The number of terms in the AP is
(@) 15 _(br16 (c) 17 (d) 18.

(iit)  The sum of the terms in the AP is
(a) 608 _(bY304 (c) 656 (d) 314,



(iv)  The tenth term of the AP is
(@ -1 (b) 29 (c)21 ,éd)/25

5. The printed price of a watch is ¥ 5000. A wholesaler in West Bengal buys the watch from

a manufacturer in Gujrat at a discount of 12% on the printed price. The wholesaler sales

?bé 4620 (c) 24510 (d) % 4400.

(i) The price inclusive of tax (under GST) at which the retailer bought the watch

was

(a) T 3465 26098.40 /(15 26930 (d) X 6765.
(iii)  The tax (under GST) paid by the wholesaler to the Government was

(a) X 55 (b) % 33 ©3Z115 (dz110.
(iv)  The tax (under GST) received by thecentral Government w

(a) 2330 (b)Z 115 (c) 2220 (d)Z 110.
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